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Answers to Exercise B2.

1.

There the father and the horse stand. They-two (72.) see.
there the-father the-horse and” they-two-stand. they-two,, they-two-see.
tatra janakah asvah ca tisthatah ; tau pasyatah ;

Sk T = fama: |t gvEa: |

Here the boy and the elephant come. They-two (72.) run.
here the-boy the-elephant and” they-two-come. they-two,, they-two-run.
atra bilah gajah ca dgacchatah ; tau dhivatah ;

I JAMA: ST = AW=Dd: | ot gEd: |

The crow and the horse drink. They-all (£) see.

the-crow the-horse and” they-two-drink. they-all, they-all-see.
kikah asvah ca pibatah ; tah pasyanti ;

w1 3T = faeq: | an st |

The father abandons and goes. The boy or the elephant eats.
the-father he-abandons he-goes and”. the-boy the-elephant or” he-eats.
Janakah tyajati gacchati ca ; bilah gajah va khidati ;
Sfeh: I TSSIA S | WA I AT GRfd |

You and”® the boy speak. She or” I remember.
you and’ the-boy and"” you-two-speak. she or”I or" I-remember.
tvam ca balah ca vadathab ; sa va abam va smarami ;
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There they-all (£) and they-all (2.) stand. Here you-two and I sit.
there they-all, they-all,, and" they-all-stand. here you-two I and” we-all-sit.
tatra tah te ca tisthanti ; atra yuvam abam ca sidimap ;
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